
Bona Flexidrum Previous Models AMO150005.3 Flexidrum rear wheel



Bona Flexidrum Previous Models AMO150005.3 Flexidrum rear wheel

. ASO111534.3 Intake duct complete 

002 . ASO117002.3 Wheel bracket grey 

003 . ASO117003 Axle 17x98 

004 . ASO934028 Spacer 15x10,2x5 

007 . ASO117007 Wheel complete 

008 . ASO916203 Ball bearing 6203-2RSH 

009 . ASO930017 Circlip ring SGA17 

010 . ASO931040 Circlip ring SGH40 

012 . ASO965900 Washer BRB17X30X3 FZB 

014 . ASO953628 Screw MF6S M10x70 

015 . ASO955614 Screw MSK6SS M10X12 

016 . ASO968410 Spacer 17x24x1,0 

034 . ASO111034.3 Intake duct grey 

035 . ASO111035 Guide pin 

066 . ASO111066 Spring 

071 . ASO955412 Screw MSK6SS M6x8 

103 . ASO950519 Screw MCS M8x25 fzb 

104 . ASO941020 Spring TF1x8x20 

105 . ASO928151 Rubber molding 270x10x15 cut 

107 . ASO960500 Nut M6M M8 fzb 

109 . ASO111088 Sealing intake duct 66x88 

110 . ASO962005 Wing nut MVM M8 fzb 

111 . ASO954520 Screw MFS M8X30 fzb 

124 . ASO968002 Spacer DB 6x12,5x0,2 



125 . ASO951418 Screw M6S M6x20 fzb 

126 . ASO960400 Nut M6M M6 fzb 

127 . ASO950416 Screw MCS M6x16 fzb 

128 . ASO960400 Nut M6M M6 fzb


